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Q.01

Q.02

.05

Q.06

Q.07

SCIENCE

Disease that occurs due to lack of nutrients
over a long period ishcal!ed di};ease, o
31 repr A T A A FHT F Fror E AT
P T AT 2
(A) Scurvy =T
(B) Deficiency T’ﬁ
(C) Pu-_xri-ﬂefi%*‘_ﬁ"'p‘-r o e
(D) None of These 48 & FrE F¢

Deficiency of vitamin in the body is known as:
o 3 B A Y X Fr Smar

(A) Avitaminosis FfazTimswomET

(B) Goiter 2T

(C) Blindness HTIH

(D) Dry Skin %% ™@=T

Vitamin required for maintaining good eye
sight.

Ay A7 71l AT AT T ¥ v R
AT =

(A) Vit- B (B) Vit- A

(C) Vit-D (D) Vit- E

A substance dissolve in water is:

Tt & 7 AT e

(A) Sand Kis
(B) Chalk ==
(B) Wax qq
(D) Sugar =t

The substance which do not dissalve in water

are called.

?W;iﬁwﬁﬁaﬁw,w_ ¥ T

(A) Soluble F=rsfre g\

(B) Insoluble srerofier
(C) Miscible fFarsfier .

(D) Immiscible stfasmrsfm &
weeeeeee.. 1S the part of the stem betw,gi*é
nodes. '-;-\-,}_:; {é /
Sl s (8) Midrib memfrey
(C) Internode 227 512 (D) Venis afor
Name plants which have roots outside the
soil.

P o

wnﬁﬁf%mmﬁﬂﬁﬁﬁ@%mm

=

(A) Sugar cane =T

(B) Money plant =T 7=
(C) Banyan 71z

(D) All of these 3971+ Tfy

A process in which water comes out from the

leaves in the form of vapour is:

T2 I s afeest & avey 3 &g § it
Ay =

(A) Photosynthesis arer saumr

(B) Transpiration aedramste

(C) Venation farrfaerma

it two

Q.09

Q.10

Q.11

Qa2

| (C)Shrubs zfEart

(D) Conduction ATAT
Pollen grains are produced in-:
TIRTROTY T I Sy 2
(A) Stamen oy 37
(B) Anthers T
(C) Pistil #ftys
(D) Al of these ¥ st
The swollen Part of the pistil is:
BT 7 3uper BT wqyar &
(A) Ovules s>
(B) Petals trrfaa
(C) Ovary srzrory
(D) Sepals EIEGH
lfiowers that have stamens and no pistils are:
T P ARRART ¥ o affrae i 7
(A) Malaﬁﬂowersﬂ‘(?ﬁ |
(B) Female Flowers #r=1 ger
(C) Both (AYand (8) A sir B 2r+1)
(D) None of these TAHH TS T
The plants have a green and soft ste

mare
called:
AT AT 5 AT it 7y A S
o\ (A)Trees 7z
| (B) Herbs v+

d'},fﬂbne of these =a% # irs =5
lants with weak stem that cannot stand

" Aipright and spread on the ground are called:

FRATE T AT Y S w18y w2 78 77 7y <
ST 9% e T e, wee
(A) Trees ¥z

(B) Creepers ar=7
(C) Plants 919

(D) All of these 77 ==

Q.14  The joint between the shoulder and upper

Q.15

Q.16

Qa7

arm is called.
FU T S [0 A F 7= A1 A=
(A) Single joint T% 5=
(B) Ball and socket joint afe siv afFz 7iez
(C) Bone joint 7t #T Srg
(D) Fixed joint ffor7 stz
How is pelvic bone formed?
afeas 221 F At 22 4 8
(A) By the fusion of three bones #17 z‘:ﬁm HA
(B) By the fusion of two bones 21 Zf2aT FATH
(C) By the fusion of four bones T=|TF gEal F g+ &
(D) None of these Z# & #re 21 :
Respiration in aquatic‘animal‘s occgrs y
St Stept i s PR greT Era e
(A) Lungsm (B) Gi“S&TTq\_gr
(C) Nostrils 747 (D) Legs %7 gt Al
Which is a biotic component of envir
rferry A7 S T A AT E?
(A) Plants T
(B) Animals 4%
() MicioqzEn i gt 061\
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Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

(D) All of these ¥ 7
A process in which liquid changes into gas is
known as:
= i i 24 i § afafda drsman 2,
(A) Solution fA=a=
(B) Fusion A=A
(C) Condensation FHT
(D) Evaporation arefteor
A process in which liquid is freezed into solid
is known as:
T gt R 79 W 3 § 75w R smar g,
(A) condensation TIAT
(B) Fusion fA=a
(C) Solution f&F=aa
(D) Evaporation FTeHHTT
Bouncing back of light from shining surfaces
is called.
ST AR § WET FT ATI AT FEATAT Bl
(A) Reflection TeTad+
(B) Refraction T
(C) Bending ®=-T
(D) Dispersion =14
Which letters of English alphabet will not
show lateral inversion?
ST AATAT F A qATT ¥ T P T
Zar?
(A)1,0,U (B) N,ZX
(C) LX,E (D) AE,1 5
Filament of a bulb is made up of y
e F7 FFATHZ 97T 210 3
(A) Aluminium THIRATH
(B) Chromium Frferaa 2l 7~ |
(C) Platinum =XzTd — ;’j?
(D) Tungsten &TFF S =7 A%
A substance which allows elecgﬁ“crw to pass
through it is called.” =«
77 AT S A A A T A A A
FEATaT gh s -
(A) A conductor. uF ATAR
(B) An isulator @ FATTH
(C) Semiconductor TF ATHTAT
(D) Superconductor gfaaras
An example of a conductor is:
T FTUF AR &
(A) Tap water A T A
(B) Salt solution @ FT 914
(C) Metal wire T F A1C
(D) All of these =T &
which is a natural magnets?
g e T AT 27
(A) Magnetite \ﬂ'&mz
(B) Haemetite ©

Q.26

Q.27

Q.28

Q.29

Q30 |

(et

(C) Bakelite aHATZE
(D) Copper atar

ENGLISH

Identify the proper nouns in the following

sentence.

Stela Has A Book.

(A) Stela (B) Has

(B) A (D) Book

Identify the abstract noun in the following

sentence,
She Hate Poverty.

(A) She (B) Hates

(C) Hates (D) Poverty

What wollld the correct pronoun be: “My
name is S@nia. ... . love my family.”?

(A He (B) 1

(C) She (D) We

What would the correct pronoun be: “Birds
flap ...o....... Wings.”?

(A) It (B) His

(C) Their (D) Them

What would the correct pronoun be:
” are not my keys.”?

(B) She

(D) These
Choose the correct second form (past tense)
of the word ‘RUN".
(A) Runned
(C) Ran

(B) Ranned
(D) Running

Fill in the blanks with suitable preposition. (Q. 32 to

Q.35)
Q.32

Q.33

Q.34

Q.35

The books are ................ the table.
(A) In (B) With

(C) At (D) On

The boy fell ............ the pond.
(A) Into (B) Off

(C) In (D) On

He goes to school ........... bus.
(A) On (B) With

(C) At (D) By
Mohanis ............. the class.
(A) On (B) In

(C) At (D) Into

Fill in the blank with suitable Determiners (Q.36 t©

Q.45)
Q.36

Q.37

Lisa SaW ...oiveee Shooting star yesterday-
(A) A (B) An

(C) The (D) None

| need to pack .......... apple for my [unch:
(A) A (B) An

(C) The (D) None
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Q.38

Q.39

Q.40

Q.41

Q.42

Q.43

Q.44

Q.45

8046

Q.47

Q.48

Don't look directly at ........ sun.
(A) A (B) An

(C) The (D) None

she got her license without .. ... problems,
(A) Some (B) Any

(C) Every (D) None

What do you want, tea. ... Coffe?

(A) And (B) But

(C) Or (D) So

The train stopped ..o the man got off.
(A) And (B) But

(C) Or (D) So

Rukmani ... three paintings last
vca:.{make}
(A) Has Made (B) Makes
(B) Will Make (D) Made

The SUN ..o iN the east. (rise)
(A) Rises (B) Rising
(C) Has Risen (D) Rose

| ... a puppy on the road. (see)
(A) See (B) Will See
(B) Seen (D) Saw

Which of the following sentences is correct?

(A) Mary Go To School Everyday.

(8) Mary Going To School Everyday.

{C) mary Goes To School Everyday. 4
(D) Mary Gone To School Every Daw);l.-_';-_.‘_e:;;,

S, P N

SOCIAL STUDY

The earth is called a blue planet beca
the presence of

Bl Wﬁiﬁ??ﬁﬂﬁﬁﬁ%ﬁ%ﬁﬂ

ATAT 27
(A) Water 9T4T #

(B) Blue colour FT&T 77

(C) Brown colour 97T ¥AT

(D) Red colour AT 731

The celestial bodies which have their own
heat and light are called

A7 TTIHT ZTAT 2

(A) Planets T2

(B) Stars AT

(C) Satellites 3TUZ

(D) All of these T AT
Name one of the following parallels of
latitudes as Tropic of Cancer.

frerferfarT aatert # & Bt v auEiaT van

F7 ATH F AT 2
(A)0°
(B) 23°30"S

Q.49

Q.50

Q.51

0.5

“ as3

Q.54

Q.55

(€) 23°30' N

(D) 66°30" N

What divides the earth into two equal parts.
ST gAT Y A ATTET AT o Aizar 2

(A) Tropic of Capricorn W7 7T

(B) Tropic of Cancer #+# TaT

(C) Equator smre T

(D) Artic Circle srfoa g7

Motion of the earth around the sun is known
as

(A) Revolution TTfrawy

(B) Rotation wfr=tiny

(C) Both (A).and.(B) a#rT b ATl

(D) Noneofthese Za% & #1Z 421

The circle that divides the globe into day and
night is called.

If;\'ﬂ%“i‘ﬁ?ﬁﬁlﬁ’ﬁﬁ?#Tﬁﬂﬁq‘ﬁ?
@TaT g

) Circle of darkness A7 T 7=

"'{B)' Circle of day and night fo &= 717 I ™
(ercle ofuﬂummatlon T T 597

(D) None of these ZaH & F1% 727

When do the longest day and the shortest

TTd % Bl 872

(A) 21 June (B) 23 September
(C) 22 December (D) 21 March
Which city was established on the banks of
Ganga?
T % FZ I AN AT TET FATA AT
ar1?
(A) Magadha Hrer
(B) Vindhyas fa=sams
(C) Both (A) and (B) a 3T b aTHT
(D) None of these ZAH & FI% A%1
Where were the manuscripts written?
wigfafiat aet Gt wé
(A) On peepal leaf diae #t u=ft 7%
(B) On Plam leaf TS & T 4¥
(C) On banana leaf = & = %
(D) On tulsi leaf TEAHT F T T7
What helps us ‘to find out the records of
hunter, fishing folk etc.?
FOrTeY, TregeRt e ATer Ay e § P
FT TAT AT g FAT WaE (Al 22
(A) Archeaology TXTd™=
(B) Astrology srfaT
(C) Biology Sfrafasir
(D) All of these 9
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In which language were the manuscripts
written?

iefErft fr amar # frdt w41

(A) Sanskrit H¥Fd

(B) Engligh 3 a5ft

(C) Hindi w21

(D) None of these ZAH & &1% &1

What was the thing used to shape sand or
powdered quartz into an object ?

T a7 OTIET Hres & Rt av v s 3d
F foro fer st &1 s B star anr

(A) Gum Tig (B) Ink =T8T
(C) Nails AT (D) Rubber TaE

How did the Hardpans irrigate their field and
grow plants? Through

TTE FH I AR

(A) Rainfall 9T

(B) Stored Water HUfga &1+

(C) Streams AXATH (D) Rivers Af24T &
Which region/state produces the Pashmina
wool?

TeHAT S FT ITATEA FI9 |7 85/7757 FT
=

(A) Laddakh =TT

(B) Jamshedpur Wqﬁl_c{ﬂ'r
(C) Kollkata FT==TaT
(D) Delhi fE==tT

Name the state located in Southwésﬁ’ rner
of Iindia.

EGIER R
(A) Kashmir ?59'5ﬁ'-!‘ : &
(B) Haryana &A1 — 7/
(C) Kerala#&Tel %% #
(D) All of these =7 Ra \
Which is the major prdductgrown in kerala?
Fvef § SATHT AT ATAT THE ITTE HI AT 22
(A) Wool 39
(B) Spices like clove =TT STH HHTH
(C) Both (A)and (B) ST asfTb
(D) None of these ZaH F FTE A8l
Where is Koregaon located these days?
= faa1 Frora Faf Faa 82
(A) Bihar 2T
(B) Haryana Zf7ATUIT
(C) U.P. 3T Ha4T
(D) Maharashtra #ETITE
Who drafted the indian constitution?

e Afee 1 wEE e T e

(A) Dr. Bhim Rao Ambedkar =t iy 7T gigeaw

m?aﬁwwﬁﬁ?ﬁﬁrﬁﬁww_ﬂﬂm /

«;0’\:}

-5

Q.64

Q.65

Q.66

Q67

Q.68

Q.69

Q.70

Q71

J (DY None of these Za# 71 F12 771

(B) Mayawati wrararT
(C) Kanshi Ram #oft 71
(D) Lal Krishan adwani AT ot srz41of]

For how many years is the Indian Government
elected?

AT AT Brart st o form =AY et 22
(A) 5 Years 5 #rer

(B) 7Years 777

(C) 10 Years 10 a1

(D) 15 Years 15 w17

Who is responsible for calling the meeting of
Gram Shaba?

T s 4, T 5 o e fo
h?

(A) President of Gram Sabha UTH THT T 42792 A
(B) Panch of Gram Panchayat ITH THTAT T T
(C) Secretary'of Gram Sabha ITH 7T F A==

MATHEMATICS

Thga_smaliestil digit number using any one
digit twice from the numbers 2,8,9 is:
ATt 2,8,9  # FeT v o A7 2T AT T
FIA ATAT AAE G 4 FF1 1 A= 2
(A) 2889 (b) 2289
(D) 2898

which pair has same digits at hundreds place.
3 o 7 e o T O AT A 22
(A) 4232,4341 (b) 5432,6922
(C) 6524, 7823 (D) 2334,2340
The difference between 85 and the number
obtained by reversing the digits is.

85 31T IHh AT AT IAZA T¥ TTH FHE=T F AT FT
(A) 25 (b) 26

(C) 27 (D) 72

The natural numbers along with zero from
the collection of .

(A) Whole numbers TuT Hwemm 3
(b) integers TuIT:

(C) Rational number 7w FEaT

(D) Real numbers aTFafa AT

The smallest whole number is:

(A) 1

(b) O

(C) not defined wirarfua ==t

(D) none of these # & F1% Tl

the LCM of 12 and 16 is:

12 &7 16 T @9AR FHTAA 2

(A) 32

(b) 60

JGM GURUKULAM GTSE D61/ g




Q.72

£
~J
~

Q.79

Q.80

Q.81

(C) 48 ‘
(D) none of these TAH # Ty
The number which is divisible by 5 | ls:
r wm o 5 & FRarsg &
(A) 422 (b) 423
(C) 424 (D) 425
The HCF of 12 and 40 is;
12 7 40 &1 HETH TAHTIF 2

Q.82

Q.83
(A) 3 (b) 4
()5 (D)6

(C)-18 (D) 18

compare pairs of numbers using >, <, =

>, <, = FT WACT F7F Hooqralt F ey A1 G447 57
U =19

(A) < (B) =

(C)> (D) none of these

If the numerator and denominator of a
fraction are equal then the fraction is:

it feft sy 1 stor sfte g7 e 2y A e 2

oo 15 the smallest prime numper Which (A) Less than 1 1‘-"‘???11

is even (B) Equalto 1 1 % aoras

’ W'ﬁﬁﬁrm?’rmﬁﬁw?m (C) Greater than 1 1% ufas
(A) 2 (b) 4 UL [D} None of these z+% & #1g 741
(C)3 (D)1 Q84 — + =~ isequal to:

The value of 10 +40 +~ 8 X 2 — 9 je. %A

: —+=

10+ 40+ 8 X 2— 9 &7 9719 3 AU
(A)9 (b)10 (A) ;2
(C) 11 o (D) 12 . :"'(B)"‘éq- | ” O
Angle which is less than 90" is called ok —
90° & FH FT FIT FZHATAT & ok

(A) reflex angle W=t oy

(B) obtuse angle sf9F Fror

(C) acute angle ¥IF For

(D) right angle F®=FT0T

A quadrilateral whose all the side are equal
and each angle is 90°
F FAES AT A4 o avEw g aﬂ-r
o= aF &7 900 2 |

(A) Square 3T

(B) Rhombus #a+{s

(C) Rectangle s+

(D) Trapezium a5+ FIHA _ :@

How many degrees are there intwo %‘ht
angles?

‘:.?
LI R AL B R ED B £ — &?:‘/
(A) 90° (8) 180° '

(C) 270° (D) 360°

A triangle whose all side are equal is

7z Bt frerft it st e 2

(A) a scalene triangle T fFawaTe B
(B) an equilateral triangle T TwaTg AT
(C) an isosceles triangle 7 #afEaTg B
(D) none of these za% & #15 77T

Qis:

0%

(A) @ positive integer T srATATF TUTH

(B) a negative integer ta FTTeHH ot
(C) neither positive nor negative 7 AT ATHE
AT 7 2 AT

(D) none of these % & 1% A&

Sum of -30 and -12 is:

-30 7 -12 71 77 2

(A)-a2 (B) 42

Q.87

Q.88

Q.89

.d) none of these Z#% & F1Z 47

Apala went to a park 20 m long and 10 m

. wide. She took one complete round of it. The

distance covered by her is:
FOET 20 HeT #4710 W27 =72 O 7 T

TR AT U T FET ACAT| THF ZT AT AT
GrEAE &

-:_,tA} 30m (B) 60m
(C) 20m (D) 10 m

Find the cost fencing a rectangular park of
length 10m and breadth 5m at the rate of
fencing is 10 Rs. Per meter.

#ars 10 Hex i Jers 5 27 F vk sy
T i a1 A T AU AT F9, A2 AN AT

3T 10 ¥9 9fy ftev 2
(A) Rs. 300 (B) Rs.300
(C) Rs. 150 (D) Rs. 1200

If Ram's present age is X years, what will be
her age in years after 20 years from now?
AfZ T f7 adw drg X A9, 7T AT T 20 37

AT AT § IEHY g FAT g

(A)X + 20 (B) X - 20
(C)i‘E (D) 20X
Solve P+1 =2

P+1 = 2 Y g FL

(A) 1 (B) 2

(Ch-1 (D) -2

There are 30 boys and 20 girls in a class. The

raito of the number of girls to the number of
boys is

T FErT 7 30 A= ofte 20 Felrat #) a=fo £

FEAT AT AEHT 6T ST H AT 2
(A)2:3 (B) 3:2
(C) 2:5 (D) 3:5

JGM GURUKULAM GTSE OG1/A
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In a family, there are 8 males and 4 females.
The raito of the number of females to number

of males is:

e TR 7 8 e sitr 4 gyt ) wlRarst B
srort die ey £ FE FT A 2

(A) 1:2 (B) 1:4

(C) 1:8 (D) 2:1

Q.90

MENTAL ABILITY

What comes next in the given series?
£t 375 @7 | HA FAT TR
15,22,17,24,19,
(A) 25 (B) 26

(C) 28 (D) 29

Which number does not fit into the given
series?

Fr Y wea & 1 e § 98 ag azdr?
11, 44, 22, 55, 15, 33

(A) 11 (B) 44

(C) 15 (D) 33

In the English alphabet, which letter will be to
the immediate left of M?

ST FOTHATAT § M F 31 AT 7 9 497
TET FIT?

(A} N (B) L

(€)o (D) K

If + means X, X means —, and = means+
o then15X3 +1545-2=7

Q.92

Q.93

@N' ATZ + FT 574 X 8, X T 944 33117 T3 +

ZAT15X3+15+542=7"
(A)O (B) 10
(C) 20 (D)6 “GEES”-
If light is called morning, morning is calfed
dark, dark is called night, night is called
sunshine, and sunshine is called dusk, then
when do we sleep?

i THTOT FT AAT Tl A2, GIE F SAT
2T ATAT 8, AAT F1 71T Fal 14T &, T4
89 FZT SATAT 8, ST g T A FET F0T 2,

Q.55

79 4 AT 57,

(A) Night (B) Sunshine

(C) Dusk (D) dark
.96  Which of the following words will come forth

in the English dictionary?

faerfarfare & & F19 A7 9753 TS TeEhT §

F19 ¥4 97 ATIT?

(A) False (B) Follow

(C) Faithfully (D) Fool

if X stands for addition, = stands for
subtraction, + stands for multipliacation,

and — stands for division.

.97

Q.98

Q.99

vﬁxﬂﬂ"fm*—ﬂ‘r«rﬁm* ST
o §, i - HT o4 Ao 81 7=
20)(8 8..41.2_

(A) 25 (B) 80

(C)5 (D) 24

tomplete the series: JEaAT T!T F7;
255 s p e T O 2T

(A) 16 (8) 18

(C) 24 (D) 14

Three of the following are like in certain
way and so from a group. Which is the

one that does not belong to the group?
Fraforfer & & ftr on ffem e 7 o
TREATAN AN AZ FTATZ ATAHZ A »
s T %

{A) kerosene FfrZt %7 77 .
7(BY water 7T

(C) petrol gZTer

(D) LPG 7#7TZ 777

= 00 Find the odd term in following:
| Rt % fam mz s A
;‘ (A) 809

(B) 64-8

C) 36-6 (D) 49-7
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